

Zammedin ISMAILOV, M. EROL

THE SPECTRUM STRUCTURE OF NORMAL OPERATORS

Abstract

In this work the structure of the spectrum of a normal operator is investigated in terms of the spectra of its real and imaginary parts. Furthermore, it is established an asymptotical formula of the modules of the eigenvalues of the normal operators with discrete spectrum in the language of the asymptotical behaviour of the eigenvalues its real and imaginary parts.

1. Introduction

It is known that a densely defined closed linear operator A in the Hilbert space H with domain $D(A)$, $A : D(A) \subset H \rightarrow H$, is called a normal operator if $D(A) = D(A^*)$ and for each element $x \in D(A)$ the condition $\|Ax\|_H = \|A^*x\|_H$ holds. The general theory of the normal operators and its spectral theory have been studied in [1-11]. However, in these works spectral structure properties of normal operators have not been constructively investigated. For the latter investigation, let $\rho(A)$, $\sigma(A)$, $\sigma_p(A)$, $\sigma_c(A)$, $\sigma_r(A)$, $H_\lambda(A)$ denote resolvent set, spectrum, point, continuous, residual spectrums, linear subspace of eigenvectors corresponding to $\lambda \in \sigma_p(A)$ of an operator A respectively. It is known that for any linear normal operator A in the Hilbert space H $\sigma_r(A) = \emptyset$ [2].

On the other hand in many books and papers the spectral properties and asymptotical behavior of the eigenvalues of the linear densely defined self adjoint operators in any Hilbert space are well studied.

This work consists of two sections. In the first section a formula for the spectrum of the one subclass normal operators is given and in the second section an asymptotical formula for the modules of eigenvalues of such normal operators with discrete spectrum in the any Hilbert space is established.

2. Structure of spectrum of the normal operators

In this and next sections, let $A_R(\lambda_r)$ and $A_I(\lambda_i)$ denote respectively real and imaginary parts of an operator A (number $\lambda \in \mathbb{C}$) in any Hilbert space, i.e.

$$A_R = \frac{1}{2}(A + A^*), \quad A_I = \frac{1}{2i}(A - A^*)$$

$$\left(\lambda_r = \frac{1}{2}(\lambda + \bar{\lambda}) \right), \quad \left(\lambda_i = \frac{1}{2i}(\lambda - \bar{\lambda}) \right).$$

Theorem 2.1. *If A is a normal operator in any Hilbert space H , then*

$$\sigma_p(A) = \sigma_p(A_R) \boxplus i\sigma_p(A_I),$$

[Z.Ismailov, M. Erol]

where \boxplus denotes special algebraic sum of $\lambda_r \in \sigma_p(A_R)$ and $\lambda_i \in \sigma_p(A_I)$ such that $H_{\lambda_r}(A_R) \cap H_{\lambda_i}(A_I) \neq \{0\}$.

Moreover, if at least one of the sets $\sigma_p(A_R)$ and $\sigma_p(A_I)$ is empty, then $\sigma_p(A)$ is empty and is vice versa.

Proof. If A is a normal operator in H , then it is clear that the operator $A + zE$ is normal for any number $z \in \mathbb{C}$. In this case it is easy to see that

$$\|(A - \lambda E)x\|_H^2 = \|(A_R - \lambda_r E)x\|_H^2 + \|(A_I - \lambda_i E)x\|_H^2$$

for every complex number $\lambda \in \mathbb{C}$ and for any element $x \in D(A)$.

From this if $\lambda = \lambda_r + i\lambda_i \in \sigma_p(A)$, then we get $\lambda_r \in \sigma_p(A_R)$ and $\lambda_i \in \sigma_p(A_I)$ and these two have the same eigenvector $x \in H_{\lambda_r}(A_R) \cap H_{\lambda_i}(A_I)$. On the other hand, if $\lambda_r \in \sigma_p(A_R)$ and $\lambda_i \in \sigma_p(A_I)$ with eigenvector $x \in H_{\lambda_r}(A_R) \cap H_{\lambda_i}(A_I)$, $x \neq 0$, then the above equality implies that $\lambda \in \sigma_p(A)$ with eigenvector x .

Example 2.2. Let us $H = L^2(0, 1)$, $A_I = -i\frac{d}{dt}$, $A_R = E$, $D(A_I) = \{u : u' \in L^2(0, 1), u(0) = u(1)\}$, $D(A_R) = L^2(0, 1)$. In this case $A_R = A_R^*$, $A_I = A_I^*$ and an operator $A = \frac{d}{dt} + E$ is a normal in $L^2(0, 1)$. It is clear that $\sigma(A_R) = \sigma_p(A_R) = \{1\}$, $H_1(A_R) = H$, $\sigma_p(A_I) = \{2n\pi : n \in \mathbb{Z}\}$, $H_{\lambda_n}(A_I) = H_{2n\pi}(A_I) = \text{span}(e^{2n\pi i})$, $n \in \mathbb{Z}$. Then by the above Theorem 2.1

$$\sigma_p(A) = \sigma_p(A_R) \boxplus i\sigma_p(A_I) = \{1 + 2n\pi i : n \in \mathbb{Z}\}.$$

Theorem 2.3. *The joint spectrum of two commuting operators is contained in the Cartesian product of their spectra.*

Proof. Let $A = A_R + iA_I$ be a normal operator in the Hilbert space H and $\lambda \in \sigma(A)$. Then for any $\varepsilon > 0$ there exists $x_\varepsilon \in D(A)$ such that

$$\|(A - \lambda E)x_\varepsilon\| \leq \varepsilon \|x_\varepsilon\|$$

(see [1]). Since the operator A is normal, then

$$\|(A_R - \lambda_r E)x_\varepsilon\|^2 + \|(A_I - \lambda_i E)x_\varepsilon\|^2 = \|(A - \lambda E)x_\varepsilon\|^2 \leq \varepsilon^2 \|x_\varepsilon\|^2$$

From this we obtain

$$\|(A_R - \lambda_r E)x_\varepsilon\| \leq \varepsilon \|x_\varepsilon\|, \quad \|(A_I - \lambda_i E)x_\varepsilon\| \leq \varepsilon \|x_\varepsilon\|.$$

Hence from last relation and [1] we have $\lambda_r \in \sigma(A_R)$ and $\lambda_i \in \sigma(A_I)$. Therefore,

$$\sigma(A) \subset \sigma(A_R) + i\sigma(A_I).$$

Theorem 2.4. *If A is a normal operator in the Hilbert space H and $\rho(A_R) \neq \emptyset$ ($\rho(A_I) \neq \emptyset$), then*

$$\rho(A_R) + i\mathbb{R} \subset \rho(A) \quad (\mathbb{R} + i\rho(A_I) \subset \rho(A)).$$

Proof. Let $\lambda_r \in \rho(A_R)$. In this case for the number $\lambda = \lambda_r + i\mu$, $\mu \in \mathbb{R}$,

$$\begin{aligned} A - \lambda E &= (A_R - \lambda_r E) + i(A_I - \mu E) \\ &= i(A_R - \lambda_r E) \left[(A_R - \lambda_r E)^{-1} (A_I - \mu E) - iE \right]. \end{aligned}$$

Now we show that the operator $T := (A_R - \lambda_r E)^{-1} (A_I - \mu E)$, $\lambda_r \in \rho(A_R)$, $\mu \in \mathbb{R}$ is closed in any Hilbert space H and investigate this case in general. We prove that if T and S are two linear closed operators in H and $S^{-1} \in L(H)$, then the operator $K := TS^{-1}$ is closed in H . Let an arbitrary sequence (x_n) be defined in $D(K)$ such that $x_n \xrightarrow{H} x$ and $Kx_n = TS^{-1}x_n \xrightarrow{H} y$ as $n \rightarrow \infty$. Because of $S^{-1} \in L(H)$ $S^{-1}x_n \xrightarrow{H} S^{-1}x$ as $n \rightarrow \infty$. On the other hand since $S^{-1}x_n \xrightarrow{H} S^{-1}x$ and $T(S^{-1}x_n) \xrightarrow{H} y$ as $n \rightarrow \infty$ and hence T is a closed operator in H , then $y = TS^{-1}x$ and $S^{-1}x$ is an element in $D(K)$. From these results we get $y = TS^{-1}x$ and the element x is in $D(TS^{-1})$ and so the operator $K = TS^{-1}$ is closed in H . Hence we have $\lambda \in \rho(A)$. On the other hands, since $A_R A_I = A_I A_R$ then for every $\lambda := \lambda_r + i\mu \in \mathbb{C}$ the operator $A - \lambda E = (A_R - \lambda_r E) + i(A_I - \mu E)$ is normal. Hence

$$(A_R - \lambda_r E)(A_I - \mu E) = (A_I - \mu E)(A_R - \lambda_r E)$$

and for every $\lambda_r \in \rho(A_R)$

$$A_I - \mu E \supset (A_R - \lambda_r E)^{-1} (A_I - \mu E) (A_R - \lambda_r E)$$

is obtained. From the last equation

$$(A_I - \mu E)(A_R - \lambda_r E)^{-1} \supset (A_R - \lambda_r E)^{-1} (A_I - \mu E)$$

is hold. It means that these operators are commutative. Moreover

$$\begin{aligned} T^* &= \left[(A_R - \lambda_r E)^{-1} (A_I - \mu E) \right]^* \supset (A_I - \mu E)^* \left[(A_R - \lambda_r E)^{-1} \right]^* \\ &= (A_I - \mu E)(A_R - \lambda_r E)^{-1} \supset (A_R - \lambda_r E)^{-1} (A_I - \mu E) \\ &= T \end{aligned}$$

i.e. $T^* \supset T$. Hence T is symmetric.

Now we show that the operator $T = (A_R - \lambda_r E)^{-1} (A_I - \mu E) : D(T) \rightarrow H$ for any $\lambda_r \in \rho(A_R)$ and $\lambda_i \in \mathbb{R}$ is a self-adjoint. For that it is sufficient to show that the deficiency indices of T is $n_+ = n_- = 0$. Firstly, let us consider the equation

$$(A_I - \mu E)(A_R - \lambda_r E)^{-1} x \pm ix = 0, x \in D(T^*).$$

In this case

$$(A_I - \mu E)(A_R - \lambda_r E)^{-1} x \pm (A_R - \lambda_r E)(A_R - \lambda_r E)^{-1} x = 0$$

is hold. From this

$$[(A_I - \mu E) \pm i(A_R - \lambda_r E)](A_R - \lambda_r E)^{-1} x = 0.$$

For $y := (A_R - \lambda_r E)^{-1} x$ the last equation can be written in form $(A_I - \mu E) y \pm i(A_R - \lambda_r E) y = 0$. Since A is a normal operator then

$$\|(A_I - \mu E) y\|^2 + \|(A_R - \lambda_r E) y\|^2 = 0.$$

From this $(A_I - \mu E) y = 0$ and $(A_R - \lambda_r E) y = 0$. Because of $\lambda_r \in \rho(A_R)$, $y = 0$ is obtained. It means that $(A_R - \lambda_r E)^{-1} x = 0$, i.e.

$$(A_R - \lambda_r E)(A_R - \lambda_r E)^{-1} x = (A_R - \lambda_r E)^{-1} 0 = 0.$$

Then $x = 0$ and therefore $n_+ = n_- = 0$ is hold. Hence for any numbers $\lambda_r \in \rho(A_R)$ and $\mu \in \mathbb{R}$ the operator T is a self adjoint in H and so $i \in \mathbb{C}$ is a regular point of this operator.

The second part of this theorem can be proved similarly.

In this section one of the main purpose is to establish the formula $\sigma(A) = \sigma(A_R) + i\sigma(A_I)$ for the one class of normal operators in any Hilbert space H .

Now we give an example which shows that this formula is not true in general for normal operators.

Example 2.5. Let B be a linear bounded selfadjoint operator in the Hilbert space H such that $\pi, \frac{3\pi}{2} \in \sigma(B)$ and $A = e^{iB}$. Then A is a linear unitary operator in H [1] and $A = \cos B + i \sin B$, $A_R = \cos B$, $A_I = \sin B$. By the spectral mapping theorem [1] $\sigma(\sin B) = \sin(\sigma(B))$, $\sigma(\cos B) = \cos(\sigma(B))$ and $0 \in \sigma(\sin B)$, $0 \in \sigma(\cos B)$. But since A is the unitary operator in H , then $0 \notin \sigma(A)$, i.e. $0 = 0 + i0 \notin \sigma(A)$. Hence, the formula $\sigma(A) = \sigma(A_R) + i\sigma(A_I)$ is not valid in this simple case.

Now we will give a theorem in which the above formula given for the spectrum will be established. If A is a linear bounded normal operator in separable Hilbert space H , then there exists a linear self adjoint operator B and a bounded measurable function $f : \mathbb{R} \rightarrow \mathbb{C}$ such that $A = f(B)$ (for the purely point spectrum [13], for the general case [14]). This result has been proved for the unbounded linear normal operators by Y. Mimura [15]. In the both cases a measurable function $f : \mathbb{R} \rightarrow \mathbb{C}$ can be chosen continuously (see [16]).

Theorem 2.6. Let $A \in L(H)$ be a normal operator in separable Hilbert space H and $A = f(B)$. Then the equality $\sigma(A) = \sigma(A_R) + i\sigma(A_I)$ holds if and only if for every $x, y \in \sigma(B)$ there is an element $z = z(x, y)$ in $\sigma(B)$ which satisfies $f_R(z) = f_R(x)$ and $f_I(z) = f_I(y)$, where $f = f_R + if_I$.

This claim does not depend on the description $A = f(B)$.

Proof. From the theorem 2.3 it is clear that the relation $\sigma(A) \subset \sigma(A_R) + i\sigma(A_I)$ is true. Now let us prove that $\sigma(A_R) + i\sigma(A_I) \subset \sigma(A)$. According to spectral mapping theorem this result is equal to a relation $f_R(\sigma(B)) + if_I(\sigma(B)) \subset f(\sigma(B))$. The last relation means that for every $x, y \in \sigma(B)$ there is an element $z = z(x, y)$ in $\sigma(B)$ which satisfies $f_R(z) = f_R(x)$, $f_I(z) = f_I(y)$ and is vice versa.

Now let $f(x)$ and $h(x)$ be two continuous functions from \mathbb{R} to \mathbb{C} and B and C be two linear selfadjoint operators in H such that $A = f(B)$ and $A = h(C)$. Firstly, suppose that the equalities $A = f(B)$ and $\sigma(A) = \sigma(A_R) + i\sigma(A_I)$ are true,

in other words, for all $x, y \in \sigma(B)$ there is an element z in $\sigma(B)$ which satisfies $f_R(z) = f_R(x)$ and $f_I(z) = f_I(y)$.

Now let $A = h(C)$, $C = C^*$, and arbitrary two elements α and β be in $\sigma(C)$. It is known that the equality $\sigma(A) = f(\sigma(B))$ and $\sigma(A) = h(\sigma(C))$. In this case, since $h(\alpha), h(\beta) \in \sigma(A)$, then there are two elements x_α and y_β in $\sigma(B)$ such that $h(\alpha) = f(x_\alpha)$ and $h(\beta) = f(y_\beta)$, i.e.

$$h(\alpha) = h_R(\alpha) + ih_I(\alpha) = f_R(x_\alpha) + if_I(x_\alpha) \tag{1}$$

$$h(\beta) = h_R(\beta) + ih_I(\beta) = f_R(y_\beta) + if_I(y_\beta). \tag{2}$$

Hence, since the equality $\sigma(A) = \sigma(A_R) + i\sigma(A_I)$ holds and the elements x_α and y_β are in $\sigma(B)$, then there exists an element $z_{\alpha,\beta} = z(x_\alpha, y_\beta) = z(\alpha, \beta)$ in $\sigma(B)$ such that

$$\begin{aligned} f_R(x_\alpha) &= f_R(z_{\alpha,\beta}), \\ f_I(y_\beta) &= f_I(z_{\alpha,\beta}). \end{aligned}$$

Therefore, (2.1) and (2.2) imply that

$$\left. \begin{aligned} h_R(\alpha) &= f_R(x_\alpha) = f_R(z_{\alpha,\beta}) \\ h_I(\beta) &= f_I(y_\beta) = f_I(z_{\alpha,\beta}) \end{aligned} \right\} \tag{3}$$

and also there is an element $\gamma_{\alpha,\beta}$ in $\sigma(C)$ for the element $z_{\alpha,\beta}$ such that $f(z_{\alpha,\beta}) = h(\gamma_{\alpha,\beta})$. Hence,

$$\begin{aligned} f_R(z_{\alpha,\beta}) &= h_R(\gamma_{\alpha,\beta}), \\ f_I(z_{\alpha,\beta}) &= h_I(\gamma_{\alpha,\beta}). \end{aligned}$$

It follows from the previous equations and (2.3) that for every $\alpha, \beta \in \sigma(C)$ there exists an element $\gamma = \gamma_{\alpha,\beta}$ in $\sigma(C)$ such that

$$\begin{aligned} h_R(\alpha) &= h_R(\gamma_{\alpha,\beta}) \\ h_I(\alpha) &= h_I(\gamma_{\alpha,\beta}). \end{aligned}$$

which proves the theorem.

Remark 2.7. If at least one of the functions $f_R, f_I : \mathbb{R} \rightarrow \mathbb{R}$ is constant on $\sigma(B)$, then conditions in the theorem 2.6 hold.

Example 2.8. Let us consider an operator $A : L^2(0, 1) \rightarrow L^2(0, 1)$ $Af(t) := f(t) + i \int_0^1 k(t, s)f(s)ds$ where $k(t, s) := \begin{cases} t(1-s), & \text{if } 0 \leq t \leq s \leq 1 \\ s(1-t), & \text{if } 0 \leq s \leq t \leq 1 \end{cases}$. It is easy

to see that $Bf(t) := \int_0^1 k(t, s)f(s)ds$ is a compact selfadjoint operator in $L^2(0, 1)$ Hilbert space and

$$\sigma(B) = \sigma_p(B) \cup \sigma_c(B) = \left\{ \frac{1}{\pi^2 n^2} : n \in \mathbb{N} \right\} \cup \{0\}.$$

Moreover $A = E + iB$ can be written. In this case $f_R(\lambda) = 1$ and $f_I(\lambda) = \lambda$, $\lambda \in \mathbb{R}$. Because the conditions of theorem 2.6 hold, the relation $\sigma(A) = \sigma(A_R) + i\sigma(A_I)$ is true, i.e.

$$\sigma(A) = \left\{ 1 + i \frac{1}{\pi^2 n^2} : n \in \mathbb{N} \right\} \cup \{1\}.$$

The following results can be proved easily.

Corollary 2.9. *If U is a unitary operator in any Hilbert space H and $U = e^{iC}$, $C = C^*$, then the equality $\sigma(C) = \sigma(\cos C) + i\sigma(\sin C)$ is true if and only if $x + y = n\pi$ or $x - y = m\pi$, $n, m \in \mathbb{Z}$, is satisfied, where $x, y \in \sigma(C)$.*

Corollary 2.10. *If $U = e^{iC}$, $C = C^*$, is a unitary operator in any Hilbert space H and $\sigma_c(C) \neq \emptyset$, then the equality $\sigma(C) = \sigma(\cos C) + i\sigma(\sin C)$ is not true (see [2], p.312).*

3. Asymptotical behavior of the modules of the eigenvalues of normal operators

In this section we will investigate discreteness of the spectrum and asymptotical behavior of the modules of eigenvalues of normal operators in any Hilbert space H .

We denote by $\mathfrak{S}_p(H)$, $p \geq 1$, the Schatten-von Neumann class of operators and $B(H)$ the space of linear bounded operators in the Hilbert space H [1].

Theorem 3.1. *Let A be a normal operator in H . If $(A_R - \lambda_r^0 E)^{-1} \in \mathfrak{S}_p(H)$, $p \geq 1$, for some $\lambda_r^0 \in \mathbb{R}$, then for any $\lambda = \lambda_r^0 + i\lambda_i$, $\lambda_i \in \mathbb{R}$, $(A - \lambda E)^{-1} \in \mathfrak{S}_p(H)$, $p \geq 1$.*

Similarly, if for some $\lambda_r^0 \in \mathbb{R}$, $(A_I - \lambda_i^0 E)^{-1} \in \mathfrak{S}_p(H)$, $p \geq 1$ then for any $\lambda = \lambda_r^0 + i\lambda_i$, $\lambda_r \in \mathbb{R}$, $(A - \lambda E)^{-1} \in \mathfrak{S}_p(H)$, $p \geq 1$.

Proof. For any $\lambda = \lambda_r^0 + i\lambda_i$, $\lambda_i \in \mathbb{R}$ we can write

$$\begin{aligned} A - \lambda E &= (A_R - \lambda_r^0 E) + i(A_I - \lambda_i E) = \\ &= i(A_R - \lambda_r^0 E) \left[(A_R - \lambda_r^0 E)^{-1} (A_I - \lambda_i E) - iE \right]. \end{aligned}$$

According to the stimulus in the proof of Theorem 2.4 the operator $(A_R - \lambda_r^0 E)^{-1} (A_I - \lambda_i E)$ is closed in Hilbert space H . Since the operator $(A_R - \lambda_r^0 E)^{-1} (A_I - \lambda_i E)$ is a self adjoint operator, then the point $i \in \mathbb{C}$ is their regular point, i.e. $\left((A_R - \lambda_r^0 E)^{-1} (A_I - \lambda_i E) - iE \right)^{-1} \in B(H)$. Hence from the last equality we get

$$(A - \lambda E)^{-1} = (-i) (A_R - \lambda_r^0 E)^{-1} \left((A_R - \lambda_r^0 E)^{-1} (A_I - \lambda_i E) - iE \right)^{-1} \in \mathfrak{S}_p(H).$$

In a similar manner, one can prove the second part of the theorem.

Definition 3.2. *Let (a_n) and (b_n) be two sequences of real numbers. If $\lim_{n \rightarrow \infty} \frac{a_n}{b_n} = 1$, then we will write $a_n \sim b_n$, as $n \rightarrow \infty$.*

Theorem 3.3. *Let $A_R^{-1}, A_I^{-1} \in \mathfrak{S}_\infty(H)$, $\lambda_n(A_R) \sim an^\alpha$, $\lambda_n(A_I) \sim bn^\beta$, $0 < a, b, \alpha, \beta < +\infty$, as $n \rightarrow \infty$ and $\lambda_m(A) = \lambda_{p_m}(A_R) + i\lambda_{q_m}(A_I) \in \sigma_p(A)$, $q_m =$*

$q_m(p_m)$, $m \geq 1$ such that $\lambda_{p_m}(A_R) \sim cm^\gamma$, $\lambda_{q_m}(A_I) \sim dm^\sigma$, $0 < c, d, \gamma, \sigma < +\infty$, then $\lambda_m(A) \sim em^{\max(\gamma, \sigma)}$ where $0 < e < +\infty$, as $m \rightarrow \infty$.

Proof. From Theorem 3.1 we have $A^{-1} \in \mathfrak{S}_\infty(H)$. On the other hand, by Theorem 2.1 it is clear that $\lambda_{k,l}(A) = \lambda_k(A_R) + i\lambda_l(A_I)$ $k, l \geq 1$ and $l = l(k)$.

Therefore,

$$\begin{aligned} |\lambda_m(A)| &= \left(|\lambda_{p_m}(A_R)|^2 + |\lambda_{q_m}(A_I)|^2 \right)^{\frac{1}{2}} \sim (c^2 m^{2\gamma} + d^2 m^{2\sigma})^{\frac{1}{2}} \\ &= m^{\max(\gamma, \sigma)} \left(c^2 m^{2\gamma - 2\max(\gamma, \sigma)} + d^2 m^{2\sigma - 2\max(\gamma, \sigma)} \right) \sim em^{\max(\gamma, \sigma)} \end{aligned}$$

as $m \rightarrow \infty$, $0 < e < +\infty$, which completes the proof.

References

- [1]. Dunford N., Schwartz J. T. *Linear operators*. I, II, Interscience publishers, New York, London, 1958, 1963.
- [2]. Rudin W. *Functional Analysis*, McGraw-Hill Book Company, New York, 1973.
- [3]. Hirsch F., Lacombe G. *Elements of functional analysis*. Springer-Verlag, New York, 1999.
- [4]. Nagy B.Sz. *Spectraldarstellung linearer transtormationen des Hilbertschen Raumes*, Ergebnisse der Math., J. Springer, Berlin, 1942, 5, Reprinted Edwards Bros., Ann. Arbor, Mich., 1947.
- [5]. Coddington E.A. *Extension theory of formally normal and symmetric subspaces*. Mem. Amer. Math. Soc., 1973, 134, pp. 1-80.
- [6]. Kilpi Y. *Ber lineare normale transformationen in Hilbertschen Raum* Ann. Acad. Sci.Fenn. Math., AI, 1953 154.
- [7]. Davis R.H. *Singular normal differential operators*. Tech. Rep., Dep. Math., Calif. Univ., 1955, 10.
- [8]. Stochel J., Szafraniec F.H. *On normal extensions of unbounded operators I*. Operator Theory, 1985, 14, pp.31-55.
- [9] Stochel J., Szafraniec F.H. *On normal extensions of unbounded operators II*. Acta Sci. Math. (Szeged), 1989, 53 pp.153-177.
- [10] Palmer Th.W. *Normal operators on Banach space*. Trans. Rep. Amer Math. Soc., 1968, 133, 2 pp. 385-414.
- [11]. Putnam C.R. *On normal operators in Hilbert space*. Amer. J. Math., 1951, 73, pp. 357-362.
- [12]. Halmos P.R. *Introduction to Hilbert space and the theory of spectral multiplicity*. Chelsea, New York, 1951.
- [13]. Riesz F. *Sur les fonctions des transformatiions hermitiennes dans l'espace de Hilbert*. Acta Sci. Math. Szeged, 1935, 7, pp.147-159.
- [14]. Von Neumann J., *Über Funktionen von Funktionaloperatoren* Ann. Math., 1931, 32, 2 pp.91-226.

[Z.Ismailov, M. Erol]

[15] Mimura Y., *Über Funktionen von Funktionaloperatoren in einem Hilbertschen Raum*. Jap. J. Math., 1936, 13, pp. 119-128.

[16] Smirnov V.I. *A Course of Higher Mathematics*, Addison- Wesley Publishing Company. Inc. 1964, 5, 635 p.

Zammedin Ismailov, M. Erol

Karadeniz Technical University,

Faculty of Arts and Sciences

Department of Mathematics,

61080 Trabzon, Turkey

E-mail: zameddin@yahoo.com, meltemaysev@hotmail.com

Tel.: (99412) 439 47 20 (off.).

Received November 16, 2009; Revised January 27, 2010.